Find the general solution of y'"" + y"' =2y =2e' —4e' cost . SCORE: /45 PTS

= D

Y11 o -2
‘ 2
’ = + — e
T2 2o Yu= v G @t i e st
2 L————“—‘f
200220
- Y
S F-

= Aot s @'tws‘t* Cef's)ht
e e ]
(At*PDa r (R+ODEP cosT+
S
Aoy« 2t

(c—®) ef:srnz@
-2.12 Q/ & g t, @

_tjf
v

i & m i 12@4/26)6 PN ot s (~2L-28)€F S)wt @
g et

o= £ K e = Shet + C”L‘(&*/%C)@ cast—\— (“‘46’ 4R sint
j(, ﬂ" :jf e I S

EA=2 "4’55*“4‘0"'4‘ ~Ry C=-)
B ~LC—43= 0O T
2C=-|

A

C‘ 2._.]

@, a> O R-+

= %bat + +efeos T T—z%_@’f,gmt ;
r e e’ e hast oot

eSS 3

@ EACH

excerT AS koD




/45 PTS

Use elimination (as shown in lecture) to solve the system @ @ @ SCORE:
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Find the general solution of 4x2y” - 8xy' +y=—7. o l(o X t / ' -5 SCORE: /30 PTS
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¥ =x isasolution of "+ (2x* -2x)y'+(2-2x)y =0. SCORE: /30 PTS

y=x" isaparticular solution of x2y" +(2x% —2x)y" + (2 -2x)y = 2x°.
Solve the initial value problem  x%y" +(2x* =2x)y’ +(2-2x)y=-8x’, y()=2, y'(1)=-14.
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